
2703/ (Set : B) P. T. O. 

CLASS : 10th (Secondary) Code No. 2703 
Series : Sec. M/16 
Roll No. 

ieefCele 

MATHEMATICS 

[ e f nv oe r S Je b De b «e s pee r ceeO Ùe ce  ]
[ Hindi and English Medium ] 

(Academic) 

1st Semester 

(Only for Re-appear Candidates) 

(Morning Session) 

meceÙe : 2½ IeCšs ] [ hetCeeËkeâ : 80 
Time allowed : 2½ hours ] [ Maximum Marks : 80

• ke=âheÙee peeBÛe keâj ueW efkeâ Fme ØeMve-he$e ceW cegefõle he=‰ 16 leLee ØeMve 17 nQ~
Please make sure that the printed pages in this

question paper are 16 in number and it contains

17 questions.

• ØeMve-he$e ceW oeefnves neLe keâer Deesj efoÙes ieÙes k eâes[ vecy ej leLee mesš keâes Úe$e
Gòej-hegefmlekeâe kesâ cegKÙe-he=‰ hej efueKeW~
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.

• ke=âheÙee ØeMve keâe Gòej efueKevee Meg™ keâjves mes henues, ØeMve keâe ›eâceebkeâ DeJeMÙe
efueKeW~
Before beginning to answer a question, its Serial

Number must be written.

SET : B 

HBSE Class 10 Maths Question Paper 2016 
Semester 1 Set B

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


 ( 2 ) 2703/ (Set : B) 

2703/ (Set : B) 

• Gòej-hegefmlekeâe kesâ yeerÛe ceW Keeueer hevvee/hevves ve ÚesÌ[W~ 
Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• hejer#eeLeea Dehevee jesue veb0 ØeMve-he$e hej DeJeMÙe efueKeW~ 
Candidates must write their Roll Number on the 
question paper. 

• ke=âheÙee ØeMveeW keâe Gòej osves mes hetJe& Ùen megefveefMÛele keâj ueW efkeâ ØeMve-he$e hetCe& 
Je mener nw, h ejer# ee ke s â Gh ejevle Fme mecy evOe ceW k eâesF& Yeer oe Jee mJe erkeâ ej 
veneR efk eâÙe e p eeÙe siee~ 

 Before answering the question, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination.  

mee ceevÙe  efveoxMe : 

General Instructions : 

 (i) me Ye er ØeMve  De efveJe eÙe& nQ~  

  All questions are compulsory. 

 (ii) Fme ØeMve-he$e ceW 17 ØeMve nQ, pees efkeâ Ûeej KeC[eW : De, y e,  me 
Deewj o ceW yeeBšs ieS nQ~ 

  This question paper consists of 17 questions 
which are divided into four Sections : A, B, 
C and D. 
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  KeC [ ‘De ’ :   Fme KeC[ ceW Sk eâ ØeMve nw efpemekesâ 
yengefJekeâuheer Øekeâej kesâ 16 (i-xvi) Yeeie nQ~ 
ØelÙeskeâ Yeeie 1 Debkeâ keâe nw~ 

  Section 'A' : This Section consists of one 
question which has 16 (i-xvi) 
parts of multiple choice type. 
Each part carries 1 mark. 

  KeC [ ‘y e’ :    Fme KeC[ ceW 2 mes 6 lekeâ kegâue he eBÛe heÇMve 
nQ,  ØelÙeskeâ heÇMve 2 DebkeâeW keâe nw~ 

  Section 'B' : This Section consists of five 
questions from 2 to 6. Each 
question carries 2 marks. 

  KeC [ ‘me’ :    Fme KeC[ ceW 7 mes 12 lekeâ kegâue Ú : heÇMve 
nQ,  ØelÙeskeâ heÇMve 4 DebkeâeW keâe nw~ 

  Section 'C' : This Section consists of six 
questions from 7 to 12. Each 
question carries 4 marks. 

  KeC [ ‘ o’ :    Fme KeC[ ceW 13 mes 17 lekeâ kegâue hee BÛe 
heÇMve nQ,  ØelÙeskeâ heÇMve 6 DebkeâeW keâe nw~ 

  Section 'D' : This Section consists of five 
questions from 13 to 17. Each 
question carries 6 marks. 

 (iii) Fme heÇMve-he$e ceW keâesF& meceieÇ JÙeehekeâ efJekeâuhe veneR nw, efHeâj Yeer 
4 DebkeâeW Jeeues oes heÇMveeW ceW leLee 6 DebkeâeW Jeeues oes heÇMveeW ceW 
Deevleefjkeâ efJekeâuhe efoÙee ngDee nw~  

  There is no overall choice. However, an 
internal choice has been provided in two 
questions of 4 marks and in two questions 
of 6 marks. 
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KeC[ – De 

SECTION – A 

  1. (i) e f ve cve  ceW me s e f ke âme  he e f jc es Ùe me b KÙ e e ke s â he Ç mee j  mee b le nQ : 1 

  (A) 
18

5
   (B) 

15

7   

  (C) 
40

3

 
  (D) F ve ce W me s ke âes F & ve ne R 

  Which of the following rational number is a 
terminating decimal ? 

  (A) 
18

5
   (B) 

15

7   

  (C) 
40

3

 
  (D) None of these 

 (ii) Ù e e f o 35 De e w j 84 k e âe HCF 7 nw, le e s G ve k e âe  LCM          
nw :        1 

  (A) 420  (B) 2940 

  (C) 60   (D) F ve ce W me s ke âes F & ve ne R 

  If H.C.F. of 35 and 84 is 7, then their LCM 
is : 

  (A) 420  (B) 2940 

  (C) 60   (D) None of these 
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 (iii) e f ve cve  ie ÇeH e â  S ke â ye ng h e o k e âe ieÇe He â  nw, le es F me ye ng h e o k e s â Me t vÙe k e âeW 
k e â er me b KÙe e  nw :      1 

 

 

 

 

  (A) 0   (B) 1 

  (C) 2   (D) 3 

  The graph given below is of a polynomial. 
The number of zeros of this polynomial are : 

 

 

 

 

 

  (A) 0   (B) 1 

  (C) 2   (D) 3 

 (iv) k ke s â ef pe me cee ve ke s â e f ueS  3x 2 – kx + 4 = 0 kesâ cet ue yejeyej 
nesb, Je n nw :       1 

  (A) 0   (B) 34±  

  (C) 12±   (D) ± 48 

  The value of k for which the roots of         

3x 2 – kx + 4 = 0 are equal, is : 

  (A) 0   (B) 34±  

  (C) 12±   (D) ± 48 

x' 

y' 

x 

y 

o 

x' 

y' 

x 

y 

o 
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 (v) me ce er k e âj Ce 6x 2 – x – 1 = 0 k e s â c et ue nQ :   1 

  (A) 3, – 2   

  (B) 
2

1
,

3

1
−  

  (C) 
3

1
,

2

1
−    

  (D) F ve ce W me s k eâe s F& ve ne R 

  Roots of equation 6x 2 – x – 1 = 0 are : 

  (A) 3, – 2   

  (B) 
2

1
,

3

1
−  

  (C) 
3

1
,

2

1
−    

  (D) None of these 

 (vi) me ce er k e âj Ce 2x 2 + 3x – 5 = 0 ke â e e f Jee f Je k e ä le ke âj 
(Discriminant) nw :     1 

  (A) 7   (B) 0 

  (C) – 31  (D) 49 

  Discriminant of equation 2x 2 + 3x – 5 = 0 

is : 

  (A) 7   (B) 0 

  (C) – 31  (D) 49 
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 (vii) e f ÉIe e le ye ng h e o 3x 2 – x – 6 = 0 k e âs  Me t vÙe ke âe W ke âe  ie g Ce ve H e âue 
nw :         1 

  (A) –2   (B) 
3

1
 

  (C) 0   (D) +18 

  Product of zeros of the quadratic 

polynomial 3x 2 – x – 6 = 0 is : 

  (A) –2   (B) 
3

1
 

  (C) 0   (D) +18 

 (viii) me ce er k e âj Ce eW 3x – 5y + 2  = 0 De e w j  5x + 3y + 2  = 0 
Ée j e  he Ç oe fMe& l e js Ke eS B De e he me  ce W :     1 

  (A) me ce eb le j nwb  (B) he Ç e f le ÛÚ s oe r nwb 

  (C) me b h ee le er nwb  (D) F ve ce W me s ke âes F & ve ne R 

  Lines represented by equation 3x – 5y + 2  = 0 
and 5x + 3y + 2  = 0 are : 

  (A) Parallel (B) Intersecting 

  (C) Coincident (D) None of these 

 (ix) me cee rkeâjCe 3x + 2y = 12 Dee wj 3x – y = 3 keâe nue nw : 1 

  (A) x = 3, y = 2 (B) x = – 2, y = – 3 

  (C) x = 2, y = 3 (D) F ve ce W me s ke âes F & ve ne R 
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  The solution of equations 3x + 2y = 12 and 
3x – y = 3 is : 

  (A) x = 3, y = 2 (B) x = – 2, y = – 3 

  (C) x = 2, y = 3 (D) None of these 

 (x) A.P. 10, 7, 4, ......... k e âe  17Jee B h e o nw :    1 

  (A) – 38  (B) 58 

  (C) 163  (D) – 41 

  17th term of A.P. 10, 7, 4, ......... is : 

  (A) – 38  (B) 58 

  (C) 163  (D) – 41 

 (xi) A. P. a, a + d, a + 2d, ............. ke s â he ÇL e ce  n he oe W ke s â 
Ù e e s ie H eâ ue k eâe  met $e  ef ue e fKe S ~     1 

  Write the formula of sum of first n terms of 
A. P. a, a + d, a + 2d, ............. . 

 (xii) k e g â Ú e f $e Yeg pee W ke âe r Ye g pe eS B vee r Ûe s oe r ie F& nQ, Gv e ce W mes ke âe w ve-me s oes 
e f $eYeg pe  me ce ™he  nw b ?     1 

  (i) 4 me s ce e r, 5 me s ce er, 6 me s cee r (ii) 6 me s c e er, 7.5 me s ce er, 9 me s ce er 
(iii) 8 me s c ee r, 9 mes ce e r, 10 me sce e r 

  (A) (i) De e w j  (ii) (B) (i) De e w j  (iii) 

  (C) (ii) De e w j  (iii) (D) F ve ce W me s ke âes F & ve ne R 
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  Sides of some triangles are given below. 
Which of the two triangles are similar ? 

  (i) 4 cm, 5 cm, 6 cm (ii) 6 cm, 7.5 cm, 9 cm 
(iii) 8 cm, 9 cm, 10 cm 

  (A) (i) and (ii) (B) (i) and (iii) 

  (C) (ii) and (iii) (D) None of these 

 (xiii) oe s me c e ™h e e f$eYe g pe e W ke âe r Ye g pe eS B 9 : 16 k e s â  De v eg hee le ce W nw b, le es 
G ve ke s â #e s$eH e âue e W k eâe  De ve g he e le  nw :     1  

  (A) 3 : 4  (B) 16 : 9 

  (C) 81 : 256 (D) 256 : 81 

  Sides of two similar triangle are in the ratio 
9 : 16. Their areas are in the ratio : 

  (A) 3 : 4  (B) 16 : 9 

  (C) 81 : 256 (D) 256 : 81 

 (xiv) Ù e e f o me ce ke âe s Ce ef $e Ye g pe ke âer Ye g pe eS B 3 me s cee r Dee w j  5 me s cee r nw b, le es 
G me k e sâ e fJe ke â Ce & ke âe r ve e he  nw :     1 

  (A) 34  me s c ee r (B) 4 me s cee r 

  (C) 8 me s cee r  (D) F ve ce W me s ke âes F & ve ne R 

  If two sides of a right angle triangle are 
3 cm and 5 cm, then the length of its 
hypotenuse is : 

  (A) 34  cm (B) 4 cm 

  (C) 8 cm  (D) None of these 
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 (xv) e f ye vogDe e W (3, – 4) De e wj  (–1, –1) ke s â  ye e r Ûe k e âe r ot je r nw : 1 

  (A) 13   (B) 29  

  (C) 5   (D) F ve ce W me s ke âes F & ve ne R 

  The distance between the points (3, – 4) and 
(–1, –1) is : 

  (A) 13   (B) 29  

  (C) 5   (D) None of these 

 (xvi) e f ye vogDe e W (x1, y1), (x2, y2) De e w j (x3, y3) ke â e s pee sÌ [ve s Je e ues 
e f $eYeg pe  ke sâ  #e s$e He â ue ke â e me t $e  ef uee f Ke S ~    1 

  Write the formula of the area of triangle 
formed by joining the points (x1, y1), (x2, y2) 

and (x3, y3). 

KeC[ – ye 

SECTION – B 

  2. 72 De e w j  135 ke âe s DeYee pÙe ie g Ce ve Ke C[e W k e sâ ie g Ce veH e âue  ke s â  ™h e ce W J Ùe òeâ 
ke âer e f peS  De e w j  Gve ke â e HCF Ye e r %ee le ke âe r ef peS ~  2 

 Express 72 and 135 as the product of prime 
factors and also find their HCF. 

  3. e f me æ ke âe re f pe S  e f ke â  756 −  S ke â De he ef jce s Ù e meb KÙe e nw~  2 

 Prove that 756 −  is an irrational number. 
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  4. S k e â e f ÉI ee le  ye ng he o %e e le ke âe r ef pe S  e f pe me ke sâ  Met vÙ e ke â 
4

1
−  De e w j  

4

1  nQ~  2 

 Find a quadratic polynomial whose zeros are     

4

1
−  and 

4

1 . 

  5. k k e s â e f ke â me ce e ve ke s â e f ueS ,  me ce e r ke âj Ce eW (2k – 1) x + y = 2k + 1 

De e w j  3x + y = 1 k e âe  ke âe s F & nue ve ne R nw ?  2 

 For what value of k, the equations (2k – 1) x + y = 

2k + 1 and 3x + y = 1 have no solution ? 

  6. me ce eb le j  ß e s Ce er (A. P.) 7, 13, 19, .......... ke â e ke âe w ve-me e 

he o 205 nw ?  2 

 Which term of A. P. 7, 13, 19 .......... is 205 ? 

KeC[ – me 

SECTION – C 

 7. Ùe e f o p(x) = 3x 3 + x 2 + 2x + 5 ke â e s g(x) = x 2 + 2x + 1 

me s Ye e ie e f oÙe e pe e S , le es Yee ieH eâue  De e wj  Me s <e H e â ue %e e le k e âe re f pe S~ 4 

 If p(x) = 3x 3 + x 2 + 2x + 5 is divided by                      

g(x) = x 2 + 2x + 1, then find quotient and 

remainder. 
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  8. Ùe e f o e f ke â mee r e fYe Ve ke s â De bMe  l eLe e nj  oe s ve e W ceW 2 pe esÌ [ e f oÙe e  pee S , le e s Je n 

11

9  ne s pe e le er nw~ Ùe e f o De bMe De e w j nj  oe s ve e W ce W 3 pe e sÌ [ e f oÙe e pee S , le es 

Je n 
6

5  ne s pe e le er nw~ Je n e fYe Ve %e ele k e âe r ef pe S ~ 4 

 If 2 is added to numerator and denominator  of a 

fraction it become 
11

9

 
and if 3 is added to 

numerator and denominator it becomes 
6

5
.  

Find the fraction. 

DeLeJee 

OR 

 ABCD S k e â Ûe ke Ç âe r Ùe  Ûe legYe g & pe  nw e f pe me ce W ∠A = (3x + 10)°,                

∠B = (2y + 30)°, ∠C = (2y)° De e w j ∠D = (2x)° F me Ûe ke Ç âe r Ùe 
Ûe le gYe g & pe k es â ke âe s Ce %e e le ke âe re f pe S~ 

 ABCD is a cyclic quadrilateral in which 

∠A = (3x + 10)°, ∠B = (2y + 30)°, ∠C = (2y)° and              

∠D = (2x)°. 

 Find the angles of this cyclic quadrilateral. 

 

 

 

 

 

 

(2x)° 

(2y)° 

(3x +10)° 

(2y + 30)° 

C 

B A 

D 
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  9. oe s ke Çâ cee ie le e f Je <e ce Oe vee lce ke â  he t Cee Ë ke â  %ee l e ke âe re f peS  e f pe ve ke s â Je ie es Ë ke âe  Ùe es i e 
290 ne s~ 4 

 Find two consecutive positive odd whole 

numbers whose sum of squares is 290. 

10. 3, 8, 13, 18, ............ ke âer A. P. ke s â ef k e â leve s h eoe W k e âe Ùee s ie 
819 ne s ie e  ? 4 

 How many terms of A. P. 3, 8, 13, 18, .......... will 

make the sum 819 ? 

11. 0.90 ce e r0 ke âe r ue cy ee F & Jeeu e e r S ke â ueÌ [ke âe r ye uye ue ie s S k e â Ke bYe s ke s â 
Dee Oee j  me s he j s 1.2 cee r0/ me s0 ke âe r Ûe e ue me s Ûe ue j ne r nw~ Ùe e f o ye uye  Ye te f ce 
me s 3.6 ce e r0 ke â er TB Ûe e F& he j  nw, le e s 4 me s0 ye e o Gme ue Ì [k eâ e r ke âe r Úe Ùe e 
ke âer ue byee F& %e e le ke âe re f pe S ~ 4 

 A girl of height 0.90 m is walking away from the 

base of a lamp post at the speed 1.2 m/sec. If 

the bulb is at height 3.6 m from the ground, find 

the length of the shadow of the girl after 4 sec. 

DeLeJee 

OR 

 Ùe e f o oe s me c e ™h e e f $e Ye g pee W ke s â #e s$e H e â ue ye j eyej  ne sb, le es e f meæ ke âe re f peS  ef ke â Jes 
e f $e Yeg pe me Jee Ë ie me ce  ne s le s nQ~   4 

 If areas of two similar triangles are equal, then 

prove that the triangles are congruent. 
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12. y-De# e h ej  Je n e fye vog %e e le k eâe re f pe S  pe es (– 5, 2) De e wj  (9, – 2) mes 
me ce ot j mL e (Equidistant) nw~  4 

 Find a point on y-axis which is equidistant from 

(– 5, 2) and (9, – 2). 

KeC[ – o 

SECTION – D 

13. 2 ce ef nue eS B Dee w j 3 he g®<e S ke â ke âmee r os ke s â ke âe ce ke âe s 3 ef ove c e W he t je  ke â j 
me k e âl e s nQ,  peye e f ke â 4 ce ef nue eS B De e w j  3 h e g®<e Gme e r ke âmee r os ke âe s 2 e f ove ceW 
he t je  ke âj  me ke âle s nQ~ %e e le ke â er ef pe S  e f ke â S ke â  De ke s âuee r ce e f nuee  F me k e â e Ùe & ke âes 
he t je  k e âj ves ceW e f ke â le ve e me ce Ùe ue s ie e r ? he g ve: F mee r ke âe ce ke âe s h etj e ke âj ve s ceW 
S k e â he g®< e ke âe s e f ke âle ve e me ce Ùe  ue ie s iee ? 6 

 2 ladies and 3 gents can complete an 

embroidary work in 3 days, while 4 ladies and 3 

gents can complete the same work in 2 days. 

Find out in how many days a single lady can 

complete it ? Again how many days a single man 

will take to complete it ? 

14. S k e â js ue ie eÌ [er S ke â me cee ve Ûe e ue me s 360 e f ke âce e r ke âe r ot je r le Ùe  k e â j lee r nw~ 
Ùe e f o Ùe n Ûe e ue 5 e f ke âce e r/Ie b še De e fOe k eâ  ne s le e r, lee s Je n Gme e r Ùe e $e e ceW 
1 I e b še  ke â ce me ce Ùe  ue s le e r~ js ue ieeÌ [e r ke âe r Ûee ue  %e e l e ke âe re f pe S ~  6 

 A train covers a journey of 360 km with a 
uniform speed. If speed of the train would have 
been 5 km/hour more it would have taken 
1 hour less. Find the speed of the train. 
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15. e f k eâme er A.P. ke â e 5J eeB  h e o 13 nw De e w j  Gme ke s â  he ÇL e ce 15 he oe W k e âe  Ùee s ie 
285 nw,  l e es G me A.P. keâ e 14Je e B h e o De e w j  Gme ke s â he ÇL e ce n he oe W ke âe 
Ùe e s ie %ee le ke â er ef peS ~ 6  

 Fifth term of an A. P. is 13 and sum of its first 
15 terms is 285. Find 14th term of this A.P. and 
also sum of its first n terms. 

DeLeJee 

OR 

 S k e â še r0Je e r0 me s še W ke âe e f ve ce e & le e Ûe e wL e s Je <e & c e W 625 še r0Je e r0 leL e e 
De e " JeW Je <e & ceW 725 še r0Je er0 me s še W ke âe  Glh ee ove ke âj l ee nw~ Ùe e f o h eÇ lÙe s ke â 
Je < e& Gl hee ove  ce W S k e â  e f ve e fMÛe le De e w j   me ce e ve me b KÙe e ce W Je =e f æ ne s l e e r nw, le es 
Gme ke âe 14Je W Je <e & ke âe G lhe e ov e De e w j 14 Je <e e sË ke â e ke g âue G lhe e ov e %e e l e 
ke âer e f peS ~    6 

 A T.V. manufacturer produces 625 T.V. in 4th 
year and 725 T.V. in 8th year. If production 
increases equally every year by a definite 
number, find its production in 14th year and 
total production of 14 years. 

16. Skeâ ef$eYegpe ABC kesâ Meer<e& A, B, C keÇâceMe: (–5, –1), (3, –5) De ew j 
(5, 2) nQ~  Ù e e f o Ye g pe eDee W BC, CA De e w j AB k e s â  c eOÙe e fye vog ke Ç â ceMe : 
D, E De ew j  F nQ, le e s ∆DEF k e âe  #e s $eH eâ ue %ee l e k e âe re f pe S ~ ∆ABC De ew j 
∆DEF ke s â #e s $eH e âue e W ke âe De ve g he e le Ye er %ee l e k eâe re f peS ~    6 

 If vertices A, B, C of ∆ABC are (–5, –1), (3, –5) 
and (5, 2) respectively. If D, E and F are middle 
points of sides BC, CA and AB respectively, then 

find area of ∆DEF. Also find the ratio of areas of 

∆ABC and ∆DEF. 
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 ( 16 ) 2703/ (Set : B) 

2703/ (Set : B) 

17. Ùe e f o e f ke âme e r e f $eYe g pe  k e âe r S ke â Ye g pee ke sâ me ce e b lej  De vÙe  oe s Ye g pe eDee W k eâes 
e fYe Ve-e fYe Ve  e f ye vogDe e W he j  he Çe fl e ÛÚs o ke âj ve s k e s â  e f ueS  S ke â  j s Kee Ke e R Ûe e rb peeS  
le e s De v Ùe oe s Yeg pee S B S k e â ne r De ve g h ee l e ceW ef J eYe e e f pe le  ne s pe e le e r nwb ~ e f me æ 
ke âj W~   6 

 If in a triangle, a line is drawn parallel to a side 
intersects other two sides at different points, 
then the other two sides are divided in the same 
ratio. Prove it. 

DeLeJee 

OR 

 De e Ùe le ABCD ke s â De b oj  e f mLe le  O k e âe s F& e fy e vog nw~ O ke âe s A, B, C 
De e w j  D me s ef ce ue e Ùee  ie Ù ee nw, le e s e f me æ ke âe re f pe S  e f ke â  :  6 

OB
 2
 + OD

 2
 = OA

 2
 + OC

 2
 

 O is any point inside the rectangle ABCD. O is 
joined with A, B, C and D. Prove that : 

OB
 2
 + OD

 2
 = OA

 2
 + OC

 2
 

S 
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